PR Received dated 13 Jul 2015-19 Jul 2015

Offices Supplies & Consumble Parts

Post Dated 21 Jul 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
1 11505355 16-Jul-2015 CONZZ05754 SILIGAGEL ALUMINA (BLUE) FOR TRANSFORMER IN H.S.M 50.00| Kilograms | MRS. ANCHALEE PIKKANESUAN BSP Anchalee) @ssi-steel.com INCOMPLETE 27-Jul-15
2 11505401 16-Jul-2015 CONZZ05811 NUT HEX.HEAD (CLASS 8.8) M16-2 410.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
3 11505343 16-Jul-2015 CONZZ06742 FLAT HEAD HEX'SOCKE;—HEAIEIE_'_'IL7SX80 mm. FOR CROP 40.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
4 11505403 16-Jul-2015 CONZZ06747 FLAT WASHER M14 50.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
5 11505229 13-Jul-2015 CONZZ06764 BOLT&NUT HEX-HEAD VEm?éll_)g‘O mm.(CLASS 8.8) FOR 50.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
6 11505342 16-Jul-2015 CONZZ06770 BOLT&NUT HEX.HEAD M8-1.25x30 mm.(CLASS 8.8) 10.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
7 11505145 13-Jul-2015 CONZZ06774 BOLT&NUT HEX.HEAD M8-1.25x70 mm.#CLASS 8.8 50.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
8 11505145 13-Jul-2015 CONZZ06777 BOLT&NUT HEX.HEAD M10-1.5x30 mm.(CLASS 8.8) 60.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
9 11505026 13-Jul-2015 CONZZ06788 BOLT HEX.HEAD (CLASS 8.8) M12-1.75x60 mm. 78.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
10 11505405 16-Jul-2015 CONZZ06794 BOLT HEX.HEAD(CLASS 8.8) M14-2x50 mm. 50.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
11 11505019 13-Jul-2015 CONZZ06834 LOW HEAD SOCKET CA;KSN?:S,;MI}IJSXZSMM' FOR 60.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
12 11505026 13-Jul-2015 CONZZ08016 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x100 mm. 30.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
13 11505345 16-Jul-2015 CONZZ08029 BOLT HEX.HEAD (CLASS8.8) M24-3x140 mm. 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
14 11505027 13-Jul-2015 CONZZ08052 BOLT HEX.HEAD(CLASS 8.8) M36-4x90 mm.P.4 34.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
15 11505015 13-Jul-2015 CONZZ08055 BOLT&NUT HEX. HEAD M36-4x140 MM (CLASS 8.8) 4.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
16 11505026 13-Jul-2015 CONZZ08056 BOLT&NUT HEX. HEAD M36x160 MM 18.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
17 11505026 13-Jul-2015 CONZZ08057 BOLT&NUT HEX. HEAD M36x180 MM 48.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
18 11505228 13-Jul-2015 CONZZ08073 SOCKET HEAD CAP SCREW  M5-0.8x20 mm. 30.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
19 11505228 13-Jul-2015 CONZZ08104 SOCKET HEAD CAP SCREW  M12-1.75x70 mm. 30.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
20 11505024 13-Jul-2015 CONZZ08105 SOCKET HEAD CAP SCREW  M12-1.75x80 mm. 20.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Jul-15
21 11505018 13-Jul-2015 CONZZ08144 SPRING WASHER M12 60.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Jul-15
22 11505226 13-Jul-2015 CONZZ08596 BOLT & NUT HEX.HEAD M5-0.8x15 mm. 50.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
23 11505026 13-Jul-2015 CONZZ09802 BOLT HEX.&NUT NYLON INST.M24-2X90 (CLASS 10.9) 32.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
24 11505022 13-Jul-2015 CONZZ12642 FLAT WASHER M20 (STAINLESS) 40.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
25 11505010 13-Jul-2015 CONZZ14543 BOLT FLANGE HEAD(TF;S'B(‘%NI_:;. NYLON INSERT M12- 300.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
26 11505344 16-Jul-2015 CONZZ14741 STRAIGHT MALE STUD FITTING GE12-PL (1/4 NPT) 50.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
27 11505014 13-Jul-2015 CONZZ16696 BOLT(CL10.9)1"-8UNCx3 1/4P/N 5591(1D4637) FOR KRESS 4.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15

Page 1 of 6




PR Received dated 13 Jul 2015-19 Jul 2015

Offices Supplies & Consumble Parts

Post Dated 21 Jul 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
28 11505224 | 13-Jul-2015 | CONZZ16878 FLAT WASHER M10 (STAINLESS) 100.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
BOLT HEX.HEAD(CLASS 10.9)M30-2.0x310(END ) )
29 11505028 | 13-Jul-2015 | CONZZ19092 THREAD =70 FOR FIx AXLE HOUSING PANTUZZI 30.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
30 11505023 | 13-Jul-2015 | CONZZ20198 SPRING WASHER DIA.36 MM. 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
31 11505017 | 13-Jul-2015 | CONZZ20530 BOLT LOW HEAD (CLASS10.9) M20-2.5x50MM.(FULL 54.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
THREAD)issuawas 30
LOW HEAD SOCKET CAP SCREWM10- ) )
32 11505016 | 13-Jul-2015 | CONZZ20611 L. 5X25(MATSTAINLESS) 200.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
33 11505226 | 13-Jul-2015 | CONZZ20941 | BOLT,NUT,SPRING WASHER M8-1.25x35 mm.(STAINLESS) 80.00[  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
34 11505012 | 13-Jul-2015 | CONzz21005 |STUP BOLT & NUT M36-4x300mm. THREAD 80mm. (BOTH 36.00|  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
SIDE) CLASS#10.9
STUD BOLT M48-5x650 & NUT HEX.HEAD CLASS 12.9 END ] -
35 11505011 | 13-Jul-2015 | CONZZ21006 THREAD = 120 BOTH SIDE ASS.Y DWG GO5203-4 & 12.00|  set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
36 11505227 | 13-Jul-2015 | CONZZ22054 BOLT HEX.HEAD M10-1.5x30MM STAINLESS 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
37 11505225 | 13-Jul-2015 | CONZZ22535 | BOLT,WASHER,SPRING WASHERM6-1x20MM(STAINLESS) 60.00[  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
LOW SOCKET HEAD CAP SCREW M16-2x60MM ) )
38 11505019 | 13-Jul-2015 | CONZZ23711 (DWG.004043)FULL THREAD 48.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
39 11505397 | 16-Jul-2015 | CONZZ24311 |SOCKET HEAD CAP SCREW M5-0.8x15MM(MAT.STAINLESS 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
40 11505345 | 16-Jul-2015 | CONZZ26007 | BOLT HEX.HEAD M16-2x35 MM (FULL THREAD) CLASS 8.8 90.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
BOLT HEX.HEAD(CLASS 8.8)M16-2x130 MM+NUT+SPRING ) )
41 11505366 | 16-Jul-2015 | CONZZ26712 WASHER, (HOT DIF GALV.) 32.00[  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
42 11505021 | 13-Jul-2015 | CONzz2g33g |CGREASE FITTING 1/8" (STEEL STRAIGHT PIPE) FOR GREASE 116.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
SYSTEM SKM#1,2,3,SHL
43 11505402 | 16-Jul-2015 | CONZZ28383 NUT HEX.HEAD(CLASS 8.8) M14-P.=2 440.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
44 11505399 | 16-Jul-2015 | CONZZ28983 BOLT&NUT HEX.STAINL.ST.A4 55010 M16-2 x 100MM. 10.00  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
45 11505019 | 13-Jul-2015 | cONnzzz902s |-OW HEAD SOCKET CAP SCREW M16-2x70MM. #CLASS 8.8 100.00|  Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
(END THREAD = 38 MM.)
46 11505228 | 13-Jul-2015 | conzzzo2e7 |SOCKET HEX-HEAD CQ:Y Sc)i'éES":’(Mhlzl4;3X8° MM #12.9 FOR 30.00[  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
BOLT FLANGE HEAD & NUT (INS.NYLON) M20-2.5x70 MM, ) )
47 11505010 | 13-Jul-2015 | CONZZ29430 | .'\0'q oD THREAD = 35 MM (DWG.MMBDDO004565 REV.A) 20.00[  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
48 11505025 | 13-Jul-2015 | CONZZ31384 BOLT HEX.HEAD M36-4x120 MM. (CLASS 8.8) 25.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
49 11505400 | 16-Jul-2015 | CONZZ31609 | SOCKET HEAD CAP SCREW M5-0.8x10 MM. (STAINLESS) 20.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
50 11505013 | 13-Jul-2015 | CONZZ31610 | SOCKET HEAD CAP SCREW M4-0.7x16 MM. (STAINLESS) 10.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
51 11505400 | 16-Jul-2015 | CONZZ31670 SOCKET HEAD CAP SCREW M5-0.8x12 MM (STAINLESS) 20.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
52 11505396 | 16-Jul-2015 | CONZZ31671 SOCKET HEAD CAP SCREW M5-0.8x16 MM (STAINLESS) 20.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 27-Jul-15
53 11505321 | 16-Jul-2015 | CONZZ06088 PLUG UNIVERSAL RECEPTACLE10A 250V (WNG1091-7) 20.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
54 11505321 | 16-Jul-2015 | CONZZ06089 ELECTRICAL PLASTIC BOX SIZE 2x4" 20.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15

Page 2 of 6




PR Received dated 13 Jul 2015-19 Jul 2015 Offices Supplies & Consumble Parts Post Dated 21 Jul 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
55 11505214 | 13-Jul-2015 | CONZZ06975 ELECTRICAL TAPE"YAZAKI" 102.00|  Roll MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
56 11505395 | 16-Jul-2015 | CONZZ08602 CABLE SIZE 3x2.5 SQMM. TYPE VCT 200.00| Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
57 11505253 | 14-Jul-2015 | CONzz19494 |FITTINGJIC 37" FEMALE Fil‘f‘VTIl\J’EEISTRAGHT 11/16-14 FOR 10.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
58 11505253 | 14-Jul-2015 | CONzz1oagg |TI1TTINGJIC 37" FEMALE Fim\l’f;z?o ELBOW 1 1/16-14 FOR 10.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
59 11504974 | 14-Jul-2015 | CONZZ26362 REFRI GERANT R-407C 50.00| Kilograms | MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
60 11505213 | 13-Jul-2015 | CONZZ30627 LOW PRESSURE AIR CARRIER MODEL 38LB009SC 2.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
61 11505362 | 16-Jul-2015 | CONZZ30728 LAMP ASS'Y XENON FLASH, HD851 P/N 05-1723 6.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
62 11505212 | 13-Jul-2015 | cONzz31203 | SPORTLIGHT FIXTURE L‘,\,E:IE?FE’SYV'ZZO VAC. TANGSTAIN 10.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
63 11505321 | 16-Jul-2015 | STA9999999 PLASTIC COVER ELEC.BOX 3 DEVICE 20.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Jul-15
64 11505137 | 13-Jul-2015 | CONZZ09265 COPPER CRIMP LUGS TYPE CL 1.5-5 ( 1.5 SQMM x M5) 100.00 Each MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jul-15
65 11505135 | 13-Jul-2015 | CONZZ29158 |RT-18 SPRAY HEADER NOZZLEBEX 6 MM. ( 1/4" ) NPT S14W 25.00| PIECES | MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jul-15
66 11505134 | 13-Jul-2015 | CONzz30035 |P-EXIGLASS TUBE OD:“&TQ;;L?:IOO mm. L=1400 mm. 1.00| Each MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Jul-15
67 11505358 | 16-Jul-2015 | CONAZ00004 KEROSENE OIL(BLUE) tiifufa 100.00[  Pip MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
68 11505393 | 16-Jul-2015 | CONZZ05628 HACKSAW BLADE 18 TPIx12" "ECLIPSE" 25.00| Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
69 11505394 | 16-Jul-2015 | CONZZ05695 ACID (¥hnsa) FOR VEHICLE 80.00| Bottle MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
70 11505187 | 13-Jul-2015 | CONZZ06355 WIRE CUP BRUSHES SIZE 2-1/2"(M10-1.5 MM) 3.00| Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
71 11505391 | 16-Jul-2015 | CONZZ06427 ENAMEL PAINT BLACK #333 (3.500 LT.) 16.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
72 11505188 | 13-Jul-2015 | CONZZ06448 ENAMEL PAINT WHITE #101 (3.500 LT.) 12.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
73 11505188 | 13-Jul-2015 | CONZZ06451 ENAMEL PAINT YELLOW #303 (3.5 LT.) 14.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
74 11505187 | 13-Jul-2015 | conzzoeazi | GRINDING WHEELS an'inzz ,,SSPSENCI,,A C 60 SIZE 180x2x22 150.00|  Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
75 11505180 | 13-Jul-2015 | CONZZ06483 PLASTIC SHEET SIZE W.54"xL.60 YARDXT.0.03 MM. 100.00|  Roll MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
76 11505189 | 13-Jul-2015 | CONZZ09604 EPOXY E-5 STEEL FILLER 3.00[  set MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
77 11505390 | 16-Jul-2015 | CONZZ09702 ELECTRICAL TAPE 3M #33 1ua 3/4 f2 x 66 la 94.00|  Roll MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
78 11505391 | 16-Jul-2015 | CONZZ13840 FILL COAT SHELL (3.500 LT.) 7.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
79 11505179 | 13-Jul-2015 | CONZZ18363 AIR HOSE ID.3/8" 400 PSI 200.00 Metres MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
80 11505189 | 13-Jul-2015 | CONZZ18523 PLUG 20PH DIA.1/4" 6.00| Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
81 11505176 | 13-Jul-2015 | CONZZ18552 GRIP HOSE D.13-16 MM 20.00| Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15

Page 3 of 6




PR Received dated 13 Jul 2015-19 Jul 2015

Offices Supplies & Consumble Parts

Post Dated 21 Jul 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
82 11505191 | 13-Jul-2015 | CONZZ18566 QUICK COUPLING MOD.20-SH,DIA. 1/4" 12.00| Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-1ul-15
83 11505392 16-Jul-2015 CONZZ31243 nszanudanla wuie v 2.0 un. 817 10.5 e a9 5 ai. 70.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Jul-15
84 11505387 | 16-)ul-2015 | CONzz31g37 | Hwwdau 2w (BLUE I\SII';IE;ET) wihade 724 (1800 4.00/  Roll MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-1ul-15
85 11504935 | 13-Jul-2015 | STA4006621 ACRYLIC ROOF SEALER "SISTA" D100 (2KG./CAN) 18.00| Can MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-1ul-15
86 11505085 | 13-Jul-2015 | CONAZ13657 | TYDRAULICFILTER F“};BEfFANNT?J'ZCZFIBS’ZAIDNA PARKER 3.00| PIECES | MR.PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
87 11505084 | 13-Jul-2015 | CONAZ13658 FILTER DONALDSON P/N P171580 FOR FANTUZZI 18.00| PIECES | MR.PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
88 | 11505094 | 13-Jul-2015 | CONZZ06684 STAINLESS STEEL T(L;'Zil\?ﬁé's%l's MM x L=6 mts. 19.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Jul-15
CONNECT TUBE OD.8 MM. MALE STUD ELBOW 90- FITTING ) )
-dl= " " . . J-— - -
89 11505078 | 13-Jul-2015 | CONZZ07910 (1/4 NPT) "BRAND : PARKER/VOSS/BMT" For Grease 100.00[  Set MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
THERMOSTAT (ROTARY) TYPE A10-6580-057,9233-13
90 11505349 | 16-Jul-2015 | CONZZ11570 |(FORMULA INDUSTRIES MODEL ETC-24 DC.24 VSA) FOR AIR 4.00| Each MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
91 11505082 | 13-Jul-2015 | CONZZ13051 BALL VALVE I/ZTFTRSET:SESE)SS"KIVTV;,“OO PSL. (END 18.00| Each MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
HI-TEME RTV SILICONS GASKET P/N.4 (WHITE COLOR) ) )
-Jul- " " . . - B -Jul-
92 11505087 | 13-Jul-2015 | CONZZ14824 THREE BOND SUPER SEALER" FOR VEHICLE 39.00| TUBE MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
93 11505408 | 16-Jul-2015 | CONZZ14840 O-RING CORD NBR 70 SH.A DIA.6 MM 100.00| Metres MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
94 11505348 | 16-Jul-2015 | CONzzig7sg | BALLVALVE2'# (STAINLEifT)Z‘Q’P"‘OOPSI (END THREAD) 3.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonQ@ssi-steel.com INCOMPLETE 27-1ul-15
95 11505079 | 13-Jul-2015 | conzzziego | STEELADIUSTABLE Sg’;}{s;fhﬁg‘;" EWSLREDCF (WITH 65.00|  Set MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
9% 11505095 | 13-Jul-2015 | CONZZ21894 UNION F/F CARB DIA.2" -11G (002709 ) 30.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
97 11505090 | 13-Jul-2015 | CONZZ23053 COPPER GASKET  ID:134 , OD=208 , TH= 3 MM 5.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
98 11505096 | 13-Jul-2015 | CONzz24025 | PIPE CLAMPS ALUMINIUMI\EI"PLE%,,S)ERIES) FOR PIPE OD.168 2.00| Each MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
99 11505091 | 13-Jul-2015 | CONZZ24532 ASBESTOS SHEET L50"x50" T=1.5 mm FOR VEHICLE 1.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
100 | 11505077 | 13-Jul-2015 | CONZZ24756 CONTACT CLEANER FOR ELEC."KLEEN-CON"B36 5.00 can MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
101 | 11505088 | 13-Jul-2015 | CONZZ28539 JOBBER DRILLS (HSS) DIN 338 DIA.4x75 MM TYPE N 12.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
PISTON GUIDE ELEMENT ID=125,0D=130 , W=15 ) )
102 | 11505083 | 13-Jul-2015 | CONZZ28994 MERKEL B9267-102.564(MAT.PTFE) 18.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
ROD SEAL DWG. MERKEL CP-OMS-MR(DIM.100x115.1x6.3 ) )
103 | 11505083 | 13-Jul-2015 | CONZZ28995 ) TYPE 0153-178,455(MAT PTFE/BRONZE) 10.00|  Set MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
104 | 11505003 | 13-3u-2015 | conzz2goays |'VS-2 POLYESTER WEBBING SLING 4 TON (WLL 4T) LENGTH 2.00| Each MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
= 4 M. (COLOUR : GREY)
105 | 11505410 | 16-Jul-2015 | CONZZ31239 HIGH SPEED STEE"I%IIEIZ’\,‘,SS%/;W BORE 1/4" SIZE 14.00| PIECES | MR.PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15
106 | 11505092 | 13-Jul-2015 | CONZZ31289 | HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 22 MM. 2.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
107 | 11505092 | 13-Jul-2015 | CONZZ31292 | HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 34 MM. 1.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-1ul-15
108 | 11505350 | 16-3u-2015 | CONzz31412 | THREAD PIPE 2°-NPT ANSI/ASME B1.20.1 MAT:SUS304 7.00| Each MR. PHAIBOON ONCHAWIANG BSP Phaiboon0@ssi-steel.com INCOMPLETE 27-1ul-15

SCH.40#SEAM DWG.MMDDD006366 POS.F

Page 4 of 6




PR Received dated 13 Jul 2015-19 Jul 2015

Offices Supplies & Consumble Parts

Post Dated 21 Jul 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
109 11505243 13-Jul-2015 CONZZz17987 V-BELT XPA 1400 FOR VEHICLE 2.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
110 11505205 13-Jul-2015 CONZZz28784 |RIGHT TAIL LIGHT 24V.JCM P/N 2037.714503 FOR FANTUZZI 2.00 Set MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
111 11505361 16-Jul-2015 CONZZ28785 |LEFT TAIL LIGHT 24V.JCM " P/N 2037.714504 FOR FANTUZZI 4.00 Set MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
112 11505209 13-Jul-2015 CONZZ29958 oL POR—EZ?ISIEGR/ECI‘G/ISU)GIE(;FRR?I:iméSI\/ISIISOS'\IlOPI(INOIESFIAGI\?EL?Z(ZRIANG 2.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
113 11505206 13-Jul-2015 CONZZ30105 PIN POS.13 P/N PC1002 18.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
114 11505203 13-Jul-2015 CONZZ30106 BUSH P0OS.14 P/N SB1001 16.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Jul-15
115 11504936 13-Jul-2015 CONZZ15082 CAN OF MORTAR (PLASTIC) nszﬂaawmaﬁnﬁmu 6.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
116 11504936 13-Jul-2015 CONZZ19034 savineng 10.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
117 11505100 13-Jul-2015 CONZZz25972 COMPOSITION PAPER (2 COPY) SIZE 9"x8.5" (v1u 2 &) 8,000.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
118 11505105 13-Jul-2015 CONZZ30506 qufiazofid 817 350 un. vune 7" PD-WSGP736 10.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
119 11505106 13-Jul-2015 CONZZ30509 fhenarovactin "MOSA" (3800 ML/GALLON) 24.00| GALLON MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
120 11505106 13-Jul-2015 CONZZ30511 witawan "Tus" (25 KG/BOX) 275.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
121 11505098 13-Jul-2015 CONZZ30512 dhendreviasih (VIGSAL) 2una 900 ML. 27.00( Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
122 11505352 16-Jul-2015 CONZZ30514 ‘Winnedau  (atovun) 12.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
123 11505411 16-Jul-2015 CONZZ30516 ‘Binnamoenswin  Auamdanlile 9.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
124 11505412 16-Jul-2015 CONZZ30522 qoaazddaua  24"x28" 50.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
125 11504936 13-Jul-2015 STA2000355 aznflduoswaiadin sunehnndie 29 am. g9 28 amm. 10.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
126 11505330 16-Jul-2015 STA2001118 NAME CARD #iuwuuy 2 & wsauglaw 300.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
127 11505324 16-Jul-2015 STA4000890 TELEPHONE PANASONIC MODEL KX-T2373 5.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Jul-15
128 11505313 16-Jul-2015 CONAZ28684 HAND TAP HSS M8*1 MM. "KANI" 1.00 Set MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Jul-15
129 11505313 16-Jul-2015 CONZZ31220 saufinenodn 2uie 12" wiauuude 2 gn 3.00 Set MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Jul-15
130 11505313 16-Jul-2015 CONZZ31222 daevd1 T.S.S auta 6" wuuuilwilu  fivadaansd 4.00 Each MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Jul-15
131 11505313 16-Jul-2015 CONZZz31223 damoen T.S.S aue 6" wuuuiluaie  fivdaansi 4.00 Each MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Jul-15
132 11505009 13-Jul-2015 CONAZ29076 NORD LOCK MODEL "lél(_DlUZPSL?;;EORITVIBOLT M12 FOR GEAR 50.00 Set MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 27-Jul-15
133 11505002 14-Jul-2015 CONZZ20392 ELBOW 90 LONG CARB.STEEL DIA.12"SCH40 (BW.) 4.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 27-Jul-15
134 11505002 14-Jul-2015 CONZZ21624 CARBON STEEL PIPE # SEAM DIA.12" SCH40 x L.6 MT 1.00| PIECES MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 27-Jul-15
135 11505327 16-Jul-2015 CONZZ31391 STAINLESS STEEL PLATE SUS304 DIM 1200x2400x1.2 mm 7.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 27-Jul-15

Page 5 of 6




PR Received dated 13 Jul 2015-19 Jul 2015 Offices Supplies & Consumble Parts Post Dated 21 Jul 2015

Serial PR No. poctment Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status FQ Closing
Date site Dated
136 11505002 14-Jul-2015 CONZZ31562 SLIP-ON FLANGE C.S. DIA 12" PN10 (DIN)(BW) 12.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 27-Jul-15
CABON STEEL PIPE ND400 SCH.10S MAT.Fe 42-B . .
-Jul- . . @ssi- .com -Jul-
137 11505364 16-Jul-2015 CONZZ31833 (STD.UNI7070) WITH MAT.CERT 8.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.col INCOMPLETE 27-Jul-15
CABON STEEL PIPE ND100 SCH.10S MAT.Fe 42-B . .
-Jul- . . @ssi- .com -Jul-
138 11505364 16-Jul-2015 CONZZ31834 (STD.UNI7070) WITH MAT.CERT 2.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.col INCOMPLETE 27-Jul-15
CABON STEEL PIPE ND250 SCH.10S MAT.Fe 42-B . .
-Jul- . . @ssi- .com -Jul-
139 11505364 16-Jul-2015 CONZZ31835 (STD.UNI7070) WITH MAT.CERT 2.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.col INCOMPLETE 27-Jul-15
CABON STEEL PIPE ND350 SCH.10S MAT.Fe 42-B . .
-Jul- . . @ssi- .com -Jul-
140 11505364 16-Jul-2015 CONZZ31836 (STD.UNI7070) WITH MAT.CERT 8.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.col INCOMPLETE 27-Jul-15

Page 6 of 6



